[image: image1.wmf]
�








34 – 8 =          65 – 9 =        42 – 7 =      21 – 7 =





81 – 9 =          54 – 9 =        72 – 9 =       63 – 9 =








25 – 8 =         22 – 6 =        21 – 9 =        23 – 8 =








92 – 7 =         96 – 8 =        52 – 9 =       74 – 8 =








63





12





43





17





54





26





85





15





66





16





14





45





72





56





88





35





Minusaufgaben mit Zehnerunterschreitung: Bus zu Puzzleteilen zerschneiden


Bildquelle: Looney Colors


Brigitte Sauer, November 2008                                                  vs-material.wegerer.at








